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Q.P. Code : 23178
|Tlm_c: Three Hours) | Marks:80) »

Please check whether you have got the right question paper.
Question.No.| is compulsory.
Attempt any three from the remaining six questions.
Figures to the right indicate full marks.

N.B

i

n) Ifthe Laplace transform of sin?3t 20

b) Prove that f (z) = logz is analytic
¢) Obuin Fourier series for f (x) = x2 in (-2,2)
d) Find the Z-Transform of cos2k, k > 0

8) Prove that F = 2xy2z%i+x22%j + 3x2y22k is irrotational. 06

Find Scalar potential for F -
b) Find the inverse Laplace Transform using Convolution theofer’n S 06

(s¥+65418)?

¢) Find Fourier Series of £(x) =-?‘in (0,21). : 08
ok S s £
Hence deduce that : b + s+ ;

a) Find the Analytic function f(z) = u + iv if u+ v = cos x cosh ¥ —sinxsinhy 06

06

2z2-10z+13
of"

dy ; 08

e 5 \49)‘,’Solvc the Diffeféntia?‘Equatian +2 :—iy =3te™',y(0) = 4,y'(0) = 2 using
"Xy .Laplace Transform . - -

- _\" x

-

~ ) Find the Orthogonal Trajectory of x? + y* — 3xy + 2y = ¢ 06

b) Using Greens theorem evaluate [.(x? — y)dx + (2y? + x)dy,C s closed path formed 06

byy=4y=s?

Page 1 of 2
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Q.P.Code: 23178

e
- <X » o ’ ol < =
¢) Express the functioa f (x) = {s‘"e”"o <‘x> = ¥ as Fourier latcgrl Hence cvaluzic
o (‘oi(‘ - / )
Y
Q.5 Find | vcrseuphceTnnsfamof—E;sﬁs—- s
a) ind In e TR SE
“!
b) Find the Bilinear Transformation that maps the points 2 = 1,i,—1 intow = L0~
¢) Evaluate using Stoke’s theorem [ F » dr where ¢ is the boundary of the carcle o
x?+yi+2z2=1z=0 andF = yzi + zxj + xyk
1.6 a) Find the Directional derivative of ® = x? + y? + 2% in the direction of the line 06
3 e 5 . 06
b) Find complex form of Fourier series for e**; (—m, T)
0%
¢) Find Half Ranige sine Series for f(x) = x(2 - x) D<x<2
n*

hence deduce that):(;‘l- ==

WeEAREAFEAAER AN

Page20f2
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P . e
Q5.9) Using Laplace transform evaluate het(l+2t-e2+ &) H(t - 1)dt . _ L "]"_“ 4

b) Show that set of functions cos x, cos 2x, cos 3x ... Is a set of orthogqnal-!functibns 300 ;[6]
over [~r, ). Hence construct a set of orthonormal functions.

¢) Solve using Laplace transform i \ e . »-(3] .
(D* -2p? 4 SD)y =0, with y(0) = 0,y(0)=0,y"(0)=1. '

Q6.a) Find the complex form of Fourier series for f(x) = 2¢ in(0;2m). -~ YR S A ‘[*“I e
b) If f(z)and f(2) are both analytic, prove that f(2)is constant. e G i ! ' Cv
) Fitacurve of the formy = ab* o he following data. i g [81
X 1 2 3 PR Sl Ao
Y 151 100 T e R

*t**t**ﬁ**i*i****ﬁ***t*ﬁ g
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Q.P. Code: 24869

(3 Hours) (Max. Marks 80]

N.8. (1) Question No. 1 is compulsory
(2)Assume suitable data if necessary
(3)Attempt any three questions from remaining questions
1
(a) Convert (1762.46)0 into octal, binary and hexadecimal. (3)
(b) Prove OR-AND configuration is equivalent to NOR-NOR configuration. (3)
(4)

(¢) Perform Subtraction using 16’s complement.
i) (CB1)1s— (971)ss

ii) (426)16 — (DBA)s6
(d) Find 8's complement of following numbers. ‘ (2)

0)(27)s i) (321)s ,
(e) Perform following subtraction (52)10 —(65)10 using 2's complement method. (2)
k (f) Write the hamming code for 1010. ' (2)
(g) Implement the following Boolean equatlon using NAND gates only. (2)
Y = AB + CDE + F '
(h) Explain the term prime implicant. ’ ’ (2)
2 (a) Design a 4-bit ripple adder.. ; TR \ ‘ v (10)
(b) Obtain the minimal expressnon usmg Qulne Mc- Cluskey method '_ , (10)
F(AB,C,D) = Im (1, 56121314)+d(24) ! :
3 (a) Implement a full adderusrngs Jd multuplexer R (10)
(b) Implement the followmg fuhctlons usmg demultnplexer IR (5)
F1(A,B,C)= zm(037) FZ(ABC) zm(125) g ’
(5)

(c) SlmpllfyF(A B,C,D) HM{Q 4,5 6 7, 10 411, 15) and implement using

minimum number of gates

(5)

MOS Ioglc Wlth respect to fan in, fan out, propagation delay,
age parameters.
s and write the architecture  (5)

4 (3) Compare TTLand C
power~consumptton nonse margm ‘current and Volt

"~(b) Draw the cu'cuut for. S R fl‘p fIOp usmg two NOR gate

\{ (i bOdy fOr the same usmg structural modellmg.
TN g
9“_\\(6) Explam i-\dlglt BCD Adder (10)
. T
\fa)ConVert JK fhp flop to SR fI|p ﬂop and D flup flop. (10)
Xb)‘Desngn 3 bit synchronous counter using T flip flops. (10)
(20)

FREEKERRRK KRR

AATRAIT Z ATANATCAMATACAAINNNANOTCLY
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OV Code: 29045

Tl 3 M Marks: o
ks

N Quention ONK, 1 compulsory

) B '
doBalve any THRIE, utal rermmining uestiogg
Lo Denw neat and olong dinpiminn

A Anmime sultabile data 1f redied

QoL A Tuntify that Sy e be uned ns n Voltage Varinble ILesiglor,

B Explain the fdenl characteristics of op-nmp

5
s
CoWith ment elroult dingram oxplain the use of PLL in frequency demodulation. 5
D Explain detection of pulse code modulation, 5
Q.2 A, Explain various binging tochnlques used in case of JIFT, 1
I Explain how op-amp can be used ag diﬂ'crcnlimor,’ 1
Q.3 A Explain the concept of virtual ground in operational amplifier, S
B State and explain Barkhausens criteria for oscillations. 5
C. Explain any one pulse modulation technique of your choice, 5
D, Determine the magnitude of g... for a JFET with Ipgs = 6 mA and Vp= -3 V at
Vag= =05 V und also ut Vos' ~ l N o 5
Q. 4 A Explalo the gencrauon of DSBSC uging baldnccd modulator. 10
B ‘With neat dlagmm and waveforms explain the operating principle of PLL. 10
@ J A Wuh block dmgmm desctibe the principle of analog communication system. 10

¥ -.\\N' e 8 I 10
Ry B, /Explam phase modulation in detai

"Q/“ ‘\:A What is Nyquist Criteria? What is its significance?

\

o e
\,: ’. » B Dlscuss Class C power amplifier.

33FB24ESAEACFIDAET54A30C94385361
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Q.P. Code: 25225
(3 Hours)

[Total Marks: 80]
L. Question No. 1 is compulsory,
2. Attempt any three out of the remaining five questions,
3. Assume suitable data if necessary
4. Figures to right indicate full marks.
Q.1 (a) Provethat 1.11 +2.21 4 33+ ... +oanl= (n+1)! = 1, Wherd n is a positive (S
integer.,
» (b)  Let A = {a,bc}. Show that (P (A), €) is a poset and draw its Hasse diagram. (5]
(¢)  Explain the terms : - (1) Lattice (51
(i1) Poset
(Jll) Non'nal Subgroup
> (w) Group
LA '(v) Planar Graph
(d) Comment whcther the functlon fis one to one or onto.. (3]

Consider function: f:N —N where N is set of natural nurﬁbers including

Zero.

S0 =F+2

Q.2 (a) F md the number of ways a person can dlstrlbute Rs. 601 as pocket money to his  [6]

) . 7\ \three sons SO thét noson should réceive ‘more than the combined total of the

other two. (Assume ﬂo:fractlon of arupee is allowed.)

5 \y \(b) LetA {al a2 a.& aﬂ a5} and letRbe a relation on A whose matrix is (6
0720, 1730 D
Sk 1 JE ) M) R
o015
0" 0-10].
e |

: Fmd Mg * by Warshall s algorithm.

Page 1 of §
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de: 25225

Q.p. Co
(4]
e relation
' yrrence 1€
Find the complete golution of the rec
(c) wnd the o« vy
an
‘-‘?I-w'n‘llnvni'llnd with .
Y and
(d) LlLet/ R-+R defined as f(x) = X ant
- 14
g R-+R defined as g(x) ax*
g ol
Findout g* /. /" 8./ 8 6]
: i ce |
robability of passing @ ccnm‘n entran
f passing the

Q1 (a)  Given that a student had prepared, the p Gy
exam is 0.99. Given that a student did not prepare, the p i
probability of preparing 1S U-/-

he or she did not prepare?

entrance exam is 0.05. Assume that the
obability that
’ gles ina plane (6]

student fails in the exam. What is the p i
e i et of tnia
(b)  Define equivalence relation with example. Let T beas A 1
= ((a,b)|a,bE T and a is congruent to b } the

and define R as the set R
[4]

that R is an equivalence relation.
Let A=B=R, the set of real numbers

—A be
Let 2 A<+B be given by the formula f(x) = 2x)- 1 and Letg: B A

(©)
; given by

.7 - ‘J. .1- .lL

. Show that fis a bijCCﬁO"betWéen A.and B and g is a bijection between B and
Y y A N e

Let Zn denote the set of integeTs {0; l 2....n-1}. Let O be binary operationon  [4]
SR znsuch that a0b= th remairder.of ab divided by .

SN, Cohstruct the table for the operation O for n=4.

: “‘(i).
(u) ShOW,'that\(Zn, O) is a semigroup for any n.

.()

(I)Among 50 students in a class, 26 got an A in the first examination and 21 got  [6]

4 (a)
an A in the second exammatlon [f 17 students did not get an A in either

exammatlon how many students got an A in both examinations?

Page 2 of 5
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Q.P. Code: 25225

s who got an A in the first examination 18 equal to

(ii) If the number of student
xamination, if the total number of students who got.an Ain

that in the second €
mination is 40 and if 4 students did not get an A in either

e first

exactly one exa
then determine the number of students who- got an A in th

examination,
who got an A in the second examination only, and who got an

examination only,
A in both the examination.

Consider the (2,5) group encoding function

(6]

(b)
e : B2 — B’ defined by
e(00) = 00000 Q(Ol)ﬁ 01110
e(10) = 10101 eIy =11011
Decode the following works relative to a maximum likelihoods decoding
function. ‘.
@ 11110 (ii) 10011 =5 (m) 101003 2" - 3 S
(c) (i) Isevery Eulerxangrap‘hgﬂamﬂtgman" R -"_'--\3,*.' 4]

(ii) Is every Hamlltoman g(aph\’a Eulenan"

Explain with the neceSsarygraph
(d) Given the parlty Check matﬂx T

16]

NOE ._a'
% etérmme whether the Poset with the following Hasse diagrams are lattices or (6]
3 J)

[

N >
AT
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h
{:
g
U
/ /
d {/ . A
/ dy
b 7
/ X ; g
. a
(¢)  From the following digraphs, write the relation aset of ordered pairs. Are the 4]

relations equivalence relations?

o) S
A\ \\\»'/- NP b

&) _For'the set X = { 2,3,6,12,24,36}, a relation < is defined as x <y if x divides y.  [4]

" “.Draw the Hasse diagram for (X,<) . Answer the following:
| (1) What are the maximal and minimal elements?
(i) Give one example of chain & antichain.

(1ii) s the poset a lattice?

Page 4 of 5
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Q.P. Code: 25225

Q6 ;
(@) Prove that the set (1,2,3,4,5,6) is group under multiplication modulo 7. '-l6]‘
(b)  Given a generating function, find out corresponding sequence 6]
U e
....__X___
/1
ot i 5x + 6x°
(¢)  Determine whether following graphs are isomorphic or riot. (4]
1 2
a b
5 6 O e
h g
8 7 d c
4 & b3
5 ‘(d)' : ‘PJ'OVe the followmg ( use laws of set theory) 4]
2 SN '(an) . xX) n (Ax )
/’ & ’ \
‘\
Page 5 of 5
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COM)P Mfm}Cbsm\gj 242\

QP CODE : 24787

NB e ('3 Hours) Marks : 80

) I
(2) QULS"O” No.1 s Compulsory.
ltem
(4)

Ptany three questions of the remain;

5 10 the right indicate full marks.
ake suitable

ng five questions.
assumptions wherever necessary with proper justification,

L. (a) Expluin linear and non-lingar data structures with suitable example.
(b)  Differentiate singly linked list and doubly linked Jjst
(©)  Write ADT for Queue. Also give applications for queue.
(d)  What is recursion ? Wri

;wn

te a recursive function to calculate sum of n natural numbers .

N

(a)  What are the various searchin

g techniques ? Write a program to implement binary 1(
search,

? (b)  What is Huffman coding ? Find the Huffman code for each character in the 10
sentence “DATA STRUCTURE”.

3. (@) Writea program to implement Singly Linked List that performs following functions : 10
(1) Insert a node in the beginning
(ii)  Delete a specified node
(il))  Count the number of nodes
(iv)  Search for a specific value
(v) Displaying the list

(b)  Explain different graph traversal techniques with suitable example. 10
4. (a) Whatis hashing ? Store the following dataset using linear probing and quadratic 10
probing in a table of size 11.
25,5, 10, 11, 22, 33, 40, 50, 30, 51, 31.

(b) Write a program to convert infix expression to postfix expression using stack. 10
“\S\ +(a) Construct B-tree of order 5 for the following dataset : 10
P 50, 25, 10, 5, 7, 3, 30, 20, 8. 15 .
S \“\ b ’.f»:"What is a circular queue ? Write a program to implement circular queue. 10
,,\;I;‘i}_e' a short notes on (any two) 20
(D) AVL Trees
Threaded binary trees

Memory represention of graphs
v MNOLy rep
d }\'QSR&r}s.e Matrix

N\
Y

EC406A17DOF6BDSEC46A223E510BDED?

J
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N.i (3 Houry)

8; Question no, 1 Is compulsory.

Attempt any 3 from the remaining questions,
3) Assume sultable data If necessary.

(1) Figures to right indicate full marks.

Sk '
WO ) 1) ) cnvas | oAl 127

0P, Code: 20267

[(Max. Marks 9]

Q 1 (a) Prove using Boolean algebra: “NAND gate is Universal gate” L
Q 1(b) A 7-bit even parity hamming code is received as 1000010, Correct it for any erors 05
and extract 4 bit data
Q I(e)  Simplify F(P,Q,R,S) = nM(3,4,5,6,7,10,11,15) using kmap and implement using 0%
minimum number of gates,
Q I(d)  Explain Johnson Ring Counter o5
Q2(a) Reduce equation using Quine McCluskey method and realize circuit using 19
basic gates— F(A,B,C,D) = y'm(1,5,6,12,13,14) 4+ d(2,4)

Q2(b) Compare TTL and CMOS wrt to gate, voltage level, fan in fan out, propagation delzy 19
Q3 (a) What is race around condition? How to overcome it? 10
Q3 (b) Implement full subtractor using basic gates 19

Q4(a) Design a 32:1 multiplexer using 4:1 multiplexer with suitable diagrams and tables 10
Q4 (b) Explain 3 bit asynchronous down counter with timing diagram and truth table 19
Q5(a)  Explain the working of 4-bit parallel adder. Identify its disadvantage how to overcome 10
it?
Q5(b)" Convert SR flipflop to D flipflop. 10
' 2

. W;ritcv-shoyt 'r_iOtg on (any 4)

)
A SR PR R

2) ‘4 bit:magnitude Comparator

GOSN R LI

3, -\,Psel.x‘do;.randpmn_umber generator
A AL O A RV

, .\‘nggensalﬁbxft,ﬁgegnster

'\ALU\\: \ & ‘" $ \Cj\

e s e de e e de ke ok ke
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Q\mf ) (O ’ cnrH} ECCF ) 12)y20)%

Q. P. Code : 26299
(3 Hours )

(Total Marks: 80
ONE is compulsory,

- Solye any THREE out of re
3. Draw j,

4. Assume

qu:mon

'J'—'

maining questions.
catand elean diagrams,

suitable data if required.

Q. A Wh

ALis the source of the leakage current ip 5 trans:stor"
If the emitter current of a transistor is 8 mA anq’ Ig i is 1l

of I¢c and Iy,

B. Expl

/100 of I, ,deteminq._the levels

ain the concept of virtual ground n operatlonaﬂ amphﬁers

n 1ts components

S =)
C. Draw the spectrum of amplitude modulated wave and explan : S
D. Explain adaptive delta modulauon S

A. The emitter bias conﬁgumtlon as show:x m followmg figure has the speclﬁcatlons

deq = ’c:m Ics\'&"t’\‘f 8m
. \) K%

Determine Rc Rg and Rsf

\\‘

10

A

”i:ng parameters and their values for 741 opamp

\

N ‘Q*S\\Ie)&av Rate Gam Bandwidth Product, Input Offset Voltage and
NS DO

RN

DUl Res

AN

§tance.,
. -{\“ A

10

TURN OVER
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Q.P. Code : 26 

4 e r0=d3 'y
on-emitter configuration with
m -
0.3 A.Given p=120 and [e= 3.2 mA for a com
determine:

(a) Zi ‘
(b) Ay if a load of 2 k§2 is applied. :
(c) Ay with the 2 kQ load. ‘ ‘ :

B. State and explain Barkhausens criteria for oscillations. :

C. Exnlain principle of TDM.
D. Determine the output voltage for the cnrcunt lf Vn 5V and V2—3V .

100 k€2
100 KO
V, —=Wy - ik
741 = JE AT S S
20k02 + Vo ¢ PSS AT S NS
vl | §. ‘,‘i ;\: e .,\\
20Kk P R SR SR
Q.4 A.Draw the block diagrﬁfn 6fpha§é cahceliatian SSB genefatl'bn and explain how the
10
carrier and unwanted SIdebands are suppressad
B. Draw the PAM, PPM and PWM waveforms in t:me domain assuming a sinusoidal
. modulatmg smnal Explam them m brlef 10
Q.5 A State Shannon 5 theorem on ghannc[ capacity
*' - S Wﬂat is* ﬁle méx}milm capacxtybf a perf\ectly noiseless channel whose bandwidth is
120 Hz m Wthh the values ofthe data transmitted may be indicated by any one of the
s Idefferent. ampmuqes? 10
\ ,‘\ » o \ \ SN
AN B thh respect to neat dlagra}n explam the elements of analog communication system. 10
6 ‘A What is Nyqunst Cntena” What is its significance? S
% B lee the proper defnmon for entropy and information rate. 5
C. Wnte short note on op-amp as comparator. 5

A\ A\

o leferenttate between Class A and Class C power amplifiers with respect to circuit

dlagraxll, operating cycle and power efficiency. <

ESE62E0555449C8DODS00FB5A923975B
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Q.P. Code 24783

[Time: 3 Hours] [Maﬂ(s 80
Please check whether you have got the rlghtquestxon paper :
N.B: 1. Question No.1 is compulsory. AL DS d
2. Attempt any three questions of the remaming ﬁve questxons
3. Figures to the right indicate full marks e K » :
4, Make suitable assumptions wherevér nece?;sary wmh‘proper )usnﬁcanons

N
"y

3 < .T:-,‘" N 3 .-" \. ‘_';»':‘
by U RN O S s 3 e (5)
N < ‘,-“ B \ g . . -

c. Write a program to implement Bmary Search on‘sprt d se

2. a. Write a program to convert lnﬁx expressxon intQ

b. Explain Huffman Encodmgw:fh\atpeximple S
N < &y S ,\Q
3. a. Write a program to lmplelﬁgnt;ﬁéﬁb*fy‘tnﬁ(ed Lts
(i)Insert a node in the begmnmg;_ ' g

(ii) Insert a node in tbe end. -
(iii) Delete a node ﬁ’om the;end
(iv) Display th llst~ S

(10)

- a. Wntea pro m{o melement Qulck sort. Show the steps to sort the given numbers: (10)
zs 53 *734 67 2343 BT N SN §
téa fogram-tmmb’lemént lmeargqueue ) §mg array. (10)

i ~

/
{//

'\/«\’~

o

{1 STACK us»l\ng»'Lmked List. What are the advantages of linked (10)

\/
el ¢ D)o
AN S
e e g N, \

0 s
ey

7
3
‘J//

N

24
[

7
“
2
%
ke
N
2 "§ 2y
r'-’
J
%
5
/’(l
¢
G,
’}4,
£

)

9,
K

//J

G

7 "7‘,: e o
g,/ A A .~_
-_,-,~'§‘ IR &
,-‘i{}("m)ﬂ‘ = 2 W) ',
l'h//d’l( Ny

=,

A2

)
I,{,

44
i

(o)

e
impleme
¥ /;“\~

NTAD AL
@fys earch Tree (BST), Show BST for the following input: (10)

O

oS

SN
=

. \ Q

*/ N

N

e Wnte Short«notes on (any tWO) (20)
- {a) AVL T(ee’ - BV

\, (b) Graph, Trayergall‘ ec“hmques

3 (c) ﬁxpressioﬁ H‘reés. :

S (d) Ap])hcgfw,nfpf bmked list- Polynomial Addition.

G

e ook K ok ke
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Durag,,.. :
ON: 3hr Q.P. Code: 24629

1) ,
QUestlon no.1 js compulsory, [Total Marks: 80]

Solve
i any three questions out of remaining fiya qu
X e
Questions carry equal marks as indicateg by e stions.
. res to th 5
late d . erij
ata whenever requireq. State 4 as'surnp:ht
ons clearly.

3)

4) ASSume appropr

Q.12) Proye by induction that n?+n is an even

Number, fq,
" 2 eve .
b) Find the generating function for the followi Y natural number .

Ng finite ¢ el
e \
)2,2,2,2,2,2 i)1,1,1,1,1.1 S fces (05M)
€) Let A={a,b,c,d,e} and Rel@a)a.b).(b.c)(c.e),(c, ) (q e))
Compute R? and R= X! (05Mm)
d) Define Lattice. Check if the following digram js 5 latti
2 \ tlice or not, (osm)

Ky ) < o, 4
A0 A
S OVply’ o AN
(’.' .Q,C/'\g-""';“\(‘.'\’ CoR
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€) Detarmine Luler Cycle and path In graph shown below
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1123 /7T1500 OBJECT ORIENTAED PROGRAMMING METHODOLA )/

OV uids )ik

(3 Hours) Toral Marks K4

N3 1) Questionno. 1 is compulsory.

2) Attempt any three from remaining questioﬁs. ,

What role does “interface” play in mulnplé mher)tance Explain with €xzmpix

»
Demonstrate use of interface to achleve polymurphism with eumwv

4
4 ’ \ v
’

b Differentiate between abstract class and mterface
¢c C A

reate a method snze(Ob;ect z],‘that accepfs a single rt:fernu- mmmrn' //

refers to “Rectangle” then’ sne(z) returns us area and if 7 s 4 r«'férr e W 4

&% A

" " o =
Cube” then snze(z) q AT g;ts volume lfz rejers xo an pb;u’( of an/ m' er dass,

M7 (

SIS
N
Se
YW

“mark and method

set_sportMarkO.
ult which extends Testan
(total=marksl+mar\-’5

d implements Sport and has a method

Create class Res
24+sports_ mark) and

late which finds total as

\» ©~  named calcu

N &> -' - method which display all the details .

:\\f\( : # Creafe an object of Result class and show result.
S e
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NOGY
TNV 101080 Emmass omsems ausy VRAAHAMIAING meTHO. 6234
ab Code 2
10)
) need Of a (
o i tis (he >
b What Is » chass? Wow duss necomplish data hiding? Wha! T ,
' [10]

EON s bt A

Uh o Luploin accoss specitions 1y JAYA. Can 4 methods of a class bE P ot mreaded 18]
b Which sre the o diffey et ways o create a thread? Wﬂ” 2 muln display
Progrsm o show ey leaving of actions from 2 u,reads a',ld 3

ABABABARABAILAL , ' TES T i)
© Write an apples program o display R AP L P ST
s Yoy FRIEST e S ¢
ol e P 5 (10]
s » Explain dmnrmt!nwr;soﬂAVA. oy f , 94 [10]
b Write 4 pmgnu/) w pl!form !aﬂov;”i;j Jpéﬂﬁom pnY et?r 2
1 ’lo:idddtymmetoyecwf : ,.: e
., 2 Ao rcmow c}tynamé !rom vecwr
3 My dlsplayaﬂ cltynatne 2 [10]

Lo n Wil Progrim o fry €ate a Package Collezé With class Student and Marks

Lo “a8 Aass '7‘“4""‘ WW‘ dﬁtd member as rol{,I'Um and Name. Accept the value

oA "’ om "W"Nf n tmdau() andﬂsplay it} piitdata()
6 ”“ ‘#”‘ Maﬂ“ thit ‘ﬂhﬂ’ltrﬂuacnbwldl data member as marks (Itis array ¢

£ AT, "‘“ﬂﬂﬂz rmrks !or S dll!erem sub]ect) Accept the Marks in getdata() ,
e, / ,-ﬁk“l}fk ihé ,wm o! mar}a display result of student in putdata() based on
P Pﬂ’“ﬂuﬂt Of '*-90 djtplzy Meritif >=75 and <90 Distinction if >= 60 and <75
Vlm clu; Vo' I T ', ’, ,
Crntr clau’ Demo wlth Maln function, create the object of the appropriate class

and display the result for 2 different students,

b Explain System.arraycopy() method with example, [5]
¢ Differentiate between Array and Vector, [5]
.'..."."‘..“‘..".‘."“.“““‘ i
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